Тест № 5.1. по теме «Тригонометрические  уравнения»

Уровень A
A1. Решить уравнение 
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A2. Решить уравнение 
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A3. Решить уравнение 
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6

3

3

=

÷

ø

ö

ç

è

æ

+

p

x

tg

.

        1) 
[image: image16.wmf]Z

k

k

x

Î

=

,

3

p

                                    2)  
[image: image17.wmf]Z

k

k

x

Î

+

=

,

6

p

p


        3) 
[image: image18.wmf]Z

k

k

x

Î

+

-

=

,

3

2

p

p

                           4) 
[image: image19.wmf]Z

k

k

x

Î

+

=

,

3

2

p

p


A4. Решить уравнение 
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        3)  нет решений         
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A5. Решить уравнение 
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A6. Решить уравнение 
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3) нет решений                
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A7. Решить уравнение 
[image: image40.wmf]0

cos

cos

sin

3

2

=

+

×

x

x

x

.

      1) 
[image: image41.wmf]Z

k

k

x

k

Î

+

=

,

2

p

p

; 
[image: image42.wmf]Z

n

n

x

n

Î

+

-

=

,

3

p

p

   

       2) 
[image: image43.wmf]Z

k

k

x

k

Î

+

=

,

2

2

p

p

; 
[image: image44.wmf]Z

n

n

x

n

Î

+

-

=

,

3

p

p


       3) 
[image: image45.wmf]Z

k

k

x

k

Î

+

=

,

2

p

p

;  
[image: image46.wmf]Z

n

n

x

n

Î

+

-

=

,

6

p

p

  

      4) 
[image: image47.wmf]Z

k

k

x

k

Î

+

=

,

2

2

p

p

;  
[image: image48.wmf]Z

n

n

x

n

Î

+

-

=

,

6

p

p


     A8. Решить уравнение 
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     A9. Решить уравнение 
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   A10. Решить уравнение 
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   A11. Решить уравнение 
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   A12. Решить уравнение 
[image: image83.wmf]2

3

sin

cos

2

2

=

-

x

x

.

  1) 
[image: image84.wmf]Z

k

k

x

Î

+

±

=

,

2

12

p

p

                               2) 
[image: image85.wmf]Z

k

k

x

Î

+

±

=

,

6

p

p

   

  3)  
[image: image86.wmf]Z

k

k

x

Î

+

±

=

,

2

6

p

p

                               4) 
[image: image87.wmf]Z

k

k

x

Î

+

±

=

,

12

p

p


   A13. Решить уравнение 
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Уровень В

  B1. Решить уравнение 
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  B2. Решить уравнение  
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  B3. Решить уравнение  
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  B4. Решить уравнение 
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  B5. Решить уравнение 
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  B6. Решить уравнение 
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  B7. Решить  уравнение 
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  B8. 
Решить уравнение  
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  B9. Решить уравнение  
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Уровень С

 C1. Решить уравнение 
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 C3. Решить уравнение 
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 C4. Решить уравнение 
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